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� http://data.princeton.edu/stata/
� http://www.ats.ucla.edu/stat/stata/notes/

(Videos)
� http://www.stata.com/support/faqs/

(Stata FAQs)

http://data.princeton.edu/stata/
http://www.ats.ucla.edu/stat/stata/notes/
http://www.stata.com/support/faqs/
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Commands 

being entered

Results

List of variables

Enter new commands
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� �	�
�
� To load a Stata-format dataset (.dta)
� e.g. use D:\401k.dta

� �Insheet ������
� To load data from a spreadsheet (.csv)
� e.g. insheet using D:\401k.csv
� N.B. Save .xls files as .csv files before 

importing
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� ������
� To drop a certain variable
� e.g. drop v1

� ���

��
� To clear all the data
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� ��
�
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�
� To generate a new variable
� e.g. generate v9=v2^2

� ��
�
�
�
� To rename a variable
� e.g. rename v9 v10

� ��
��
�
�
� To replace values of a variable
� e.g. replace v10=v8
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� Exercise:
� 	�����!���
��"�����
�
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variables from 401k.csv in accordance 
with 401k.des
� rename v1 prate
� rename v2 mrate
� rename v3 totpart
�  
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� Examples:
� generate young=0 
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� replace young=1 if age<19
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� replace young=2 if age==19
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� �����
���
��(Descriptive statistics)
� e.g. summarize prate mrate

� ��
��
��(Create a table of statistics)
� e.g. table prate
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� ��
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� Regression (OLS)

� Exercise
� Jeffrey M.Wooldridge (4e), Page 64: C2.1
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� (i) Find the average participation rate 
and the average match rate in the 
sample of plans.

� Solution:
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� (ii) Now, estimate the simple regression 
equation                              ,
and report the results along with the 
sample size and R-squared.

0 1
� �prate mrate� �� �
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� Solution:
Sample space=1534; R-squared=0.0747

0 1
� �83.07546, 5.861079� �� �
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� (iii) Interpret the intercept in your 

equation. Interpret the coefficient on 
mrate.

� Solution: Recall 
is the participation percentage in the 

pension plan when the firm contributes 
nothing (i.e. when mrate=0);
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percentage in the pension plan. 
(i.e.                     )

0 1
� �prate mrate� �� �
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� (iv) Find the predicted  prate when 
mrate=3.5. Is this a reasonable 
prediction?

� Solution: 
when mrate=3.5, the predicted value 

which is larger than 100%, hence not 
reasonable.

83.07546 5.861079prate mrate� � �

83.07546 5.861079 3.5 103.589236prate� � � �
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� (v) How much of the variation in prate is 
explained by mrate? Is this a lot in your 
opinion?
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� Solution:

� ESS=32001.7271; TSS=428385.539;
� ESS/TSS=32001.7271/428385.539=7.4703%
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� ��
����(if you know the command)
� e.g. help graph

� ��
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� e.g. search graph


